1973 4 RTR 3 [4]
(i)
a=(cosd, sin@), b =(cos(d +120°), sin(6+120°), ¢ = (cos(@ —120°), sin(8 —120%) & 3513 5.
;z(l cosa, Isina) & 4% & 5-§=I0030005a+lsinesinazlcos(@—a)
FEEIC b-x=lcos(@—a+120° c-x=lcos(d—a—120°
a-x+b-x+c-x=1{cos(0—a)+cos(d —ar +120°) + cos(d — & —~120°)}
=I{cos(@—a)—%cos(@—a)—?sin(@—a)—%cos(e—a)+§sin(9—a)}=0
LMo T, EEORY FAXIZONT  a-X+b-x+C-x=0 GEWI)
(ii)
@-x)2+(b-x)2+(c-x)>
2 2
|2{cosz(9—a)+[-%cos(e—a)—§sin(9—a)J +£—%cos(9—a)+§sin(9—a)] }
:Iz{cosz(e—a)+%cosz(9—a)+gsin2(9—a)+gcos(e—a)sin(e—a)—@cos(@—a)sin(@—a)}

:glz{cosz(e—a)+sin2(0—a)}=g|2

.‘.(g-;)2+(5-;)2+(E.;)2:g|2 ...... (%)



